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Part A: Grammar and Vocabulary
Direction: Choose the word or phrase, (1), (2), (3), or (4), that best completes each sentence. Then

mark the answer on your answer sheet.

76- He says he likes people ............... others to remain hopeful even under the worst conditions.
1) encourage 2) they encourage 3) encouraging 4) are encouraged
77- The package contains books and records ............... to the library recently.
1) delivered 2) has delivered 3) were delivered 4) has been delivered
78- Mr. Ahmadi must be about sixty, ............... his wife looks about thirty.
1) because 2) whether 3) whereas 4) so that
79- He failed his tests; you ...............have helped him with his lessons when he referred to you.
1) might 2) must 3) could 4) should
80- We need to do our best to protect these animals because they are in danger of ................
1) nutrients 2) extinction 3) experiments 4) exploration
81- A large amount of money will be ...............to the first winner in this competition.
1) awarded 2) saved 3) managed 4) stretched
82- The book was written in a style ............... to the age of the children.
1) addictive 2) appropriate 3) frequent 4) equipped
83- My friend joined the local ............... in order to do charity work.
1) function 2) destination 3) community 4) capacity
84- At my school, almost everyone plays a sport. These sports ............... tennis, volleyball, and field hockey.
1) compose 2) devote to 3) include 4) estimate
85- John is worried about many things at the moment, ............... his son’s health.
1) primarily 2) emotionally 3) previously 4) fortunately
86- At present 10,000 kilometers is the largest walking competition ............... in the Olympics.
1) taken 2) held 3) beaten 4) fought
87- They have................ a number of circumstances to the agreement.
1) combined 2) restated 3) arranged 4) attach

Part B: Cloze Test
Direction: Read the following passage and decide which choice, (1), (2), (3), or (4), best fits each space.

Then mark the correct choice on your answer sheet.

Earthquakes are probably one of the most frightening and destructive happenings of nature that man
experiences. The effects of an earthquake are often ...(88)... . Earthquakes have ...(89)... the death of
many human beings, much suffering, and great ...(90)... . Today, the study of earthquakes has grown
..(91)... as scientists all over the world study the causes of earthquakes. These records were the first
scientific ...(92)... to write down the effects of an earthquake.

88- 1) chemical 2) superior 3) terrible 4) formal
89- 1) provided 2) caused 3) required 4) designed
90- 1) damage 2) source 3) impression 4) variety
91- 1) destructively 2) distantly 3) smoothly 4) greatly
92- 1) steps 2) stances 3) degrees 4) scenes
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Part C: Reading Comprehension
Direction: read the following two passages and answer the questions by choosing the best choice, (1),
(2), (3), or (4). Then mark the correct choice on your answer sheet.

u Passage I:

The population of the world is increasing rapidly. By 2020, there could be 7.5 billion people on earth.
Will there be enough food for all these people, or will we have a food shortage? Some scientists think
fish farming could solve this problem. However, other scientists worry that fish farming could cause
serious environmental problems.

Fish farming is not a new thing. There were fish farms in China 3,000 years ago. Today, about one-
third of the fish we eat comes from fish farms.

Most fish farms raise plant- eating fish. Popular kinds of plant- eating fish are carp, tilapia, and
catfish. Unfortunately, many fish farms are starting to raise meat- eating fish. A popular type of meat-
eating fish is salmon. These meat- eating fish live on processed food made from wild fish. However, it
takes up to 5 tons of wild fish to produce just 1 ton of farm- raised salmon. The supply of wild fish is
already decreasing. Eventually, many types of wild fish could become extinct. What will we do then?

Critics of fish farming also say that farm- raised fish is unhealthy for humans. They say the fish
contains dangerous chemicals. They also criticize fish farming because it pollutes the water. Another
criticism is that farm- raised fish can spread diseases to wild fish.

Some people say that farming methods being used now won’t produce enough fish anyway. Instead
of putting fish farms in lakes or near the coast, they say that the fish farms should be moved far out into
the ocean. Several countries are already experimenting with deep- ocean farms. In the future, fish farms
might be large cages that move across the ocean.

93- According to the passage, it is ture that ...............
1) most scientists believe that fish farming is the answer to our future food shortage.
2) the environmental problems caused by fish farming are more serious than overpopulation.
3) fish farming is not a new thing because it was practiced by some people a few thousand years
back in time.
4) as fish farmers can make money out of meat- eating fish, they may very soon decide to stop
raising plant- eating ones.
94- To produce two tons of salmon, fish farmers need to use about ................
1) 5 tons of processed food and 5 tons of wild fish
2) the same amount of wild fish
3) 10 tons of processed food
4) 10 tons of wild fish
95- The dangerous chemicals referred to in the passage enter the human body when humans................
1) consume fish raised on fish farms
2) drink the water in which fish are farmed
3) eat wild fish affected by those fish that are farm- raised
4) get in touch with ocean waters polluted by deep- ocean farms
96- The passage supplies information that would answer which of the following questions?
1) Whatis wrong with the current farming methods that makes them unable to meet human food
needs?
2) What are some of the environmental problems likely to be caused directly by wild fish?
3) What is the source of the food given to meat- eating fish on the related fish farms?
4) Did the fish raised by people in the past contain harmful chemicals?
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® Passage ll:

One theory of anxiety by liebert and Morris in 1967 suggests that anxiety consists of two parts; worry
and emotionality. Emotionality refers to physiological symptoms such as sweating, increased heartbeat
and raised blood pressure. Worry refers to negative self- talk that often distracts the mind from focusing
on solutions to the problem at hand. For example, when students become anxious during a test, they
may repeatedly tell themselves they are going to fail, or they cannot remember the material, or that
their teacher will become angry with them if they preform poorly. This thinking interferes with focusing
on the test as the speech areas of the brain that are needed to complete test questions are being used
for worrying.

Dr. Edward Hallowell, author of worry, argues that while “worry serves a productive function,”
anticipatory and dangerous worring- which he calls “toxic worry”- can be harmful for your mental and
physical health. He claims that “toxic worry is when the worry paralyzes you”, whereas “Good worry
leads to constructive action” such as taking steps to solve problems that are causing concern. To fight
worry, Hallowell suggests that people should not worry alone, because people are much more likely to
come up with solutions when talking about their concerns with a friend. As well, he encourages worriers
to find out more information about the issue that is troubling them, or make sure that their information
is correct. Another step to reduce worry is to make a plan and take actions and take “care of your brain”
by sleeping enough, gettion exercise, and eating a healthy diet. Hallowell encourages worriers to get
“regular doses of positive human contact” such as “ a hug or a warm pat on the back.” Finally, he
suggests that worriers let the problems go rather than gathering than around themselves.

97- What doses the passage mainly discuss?

1) The relationship between people’s personality and their type of anxiety.
2) The reasons why people are affected by anxiety and worry.

3) Why scientists do not agree about the definition of worry.

4) What worry is and how to overcome it.

98- Why does the author refer to students in paragraph 1?

1) To illustrate a general point already made.

2) To suggest a way to improve students’ test performance.

3) To mention a group of people who are more exposed to worrying.

4) To throw light on the role of people’s situation in their experiencing anxiety.

99- According to the passage, people affected toxic worry ............... .

1) first experience periods of sleeplessness and then start eating unhealthy foods
2) hardly ever take any steps to solve those problems causing stress in their life
3) mistake their mental problems for physical ones, which adds to their worry

4) tend to talk to others to make themselves calm

100- The word “ them” in paragraph 2 refers to ............... .

1) worriers 2) problems
3) worries 4) regular doses of positive human contact




